& Paclasalai’s

weoo lelegram Groups!

( smeolIB@ H6p 2 eiten eIBens Hefld CFUIH Gupaled Rewewruiad! )

e Padasalai's NEWS - Group
https://t.me/joinchat/NIfCqVRBNj9hhV4wu6 NgA

e Padasalai's Channel - Group
https://t.me/padasalaichannel

e Lesson Plan - Group
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th

e 11th Standard - Group
https://t.me/Padasalai 11th

e 10th Standard - Group
https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th

e 6th to 8th Standard - Group
https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC



https://t.me/joinchat/NIfCqVRBNj9hhV4wu6_NqA
https://t.me/padasalaichannel
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw
https://t.me/Padasalai_12th
https://t.me/Padasalai_11th
https://t.me/Padasalai_10th
https://t.me/Padasalai_9th
https://t.me/Padasalai_6to8
https://t.me/Padasalai_1to5
https://t.me/Padasalai_TET
https://t.me/Padasalai_PGTRB
https://t.me/Padasalai_TNPSC

www.Padasalai.Net

www. TrbTnpsc.com

FIRST REVISION TEST -2020
X—-STD-MATHEMATICS—UNIT =1, I, 1,1V
Time: 3.00 Hrs Maximum Marks: 100
Note: this question paper contains four parts.

PART —1 (Marks14)
Note: (i) Answer all the 14 questions. 1x14=14
(ii) Choose the most suitable answer from the given four alternatives and
write the option code with the corresponding answer.

1. If afunction f:A — B is both one — one and onto then f is called a

fromA toB
(2) bijection (2) onto (3) one- one (4) not a function

2. Lea n(A) = m and n(B) = n then the total humber of non-empty

reations that can be defined from A to B is
Q) m™ (2) n™ (3) 2™ -1 (4 2™

3. If g = {(1,1),(2,3),(3,5), (4,7)}is a function given by

g(x) = a(x) + B thenthe values of a and B are
M -12) @ 2-1 )(-1,-2) D@2

4. The least number that is divisible by al the numbers from 1 to

10(both inclusive) is (1) 2025 (2) 5220 (3)5025  (4) 2520

5. . If 6timesof 6" term of an A.P. is equal to 7times the 7" term, then

the 13" term of the A.P.is (1) 0 26 @7 @13
6. Then@<ttermofthesequencei,l,i,i,.......is
16°8 12718
1 1 2 1
D o2 2) 27 3) 3 4) a1
256 x8y%4210

7. The square root of the isequal to

25 x6y626
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10.

11.

12.

13.

14.
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xz2

(2) 16

OE= 3)

OF=

Xz
y

The values of a and b if 4x* — 24x3 + 76x? + ax + b is a perfect

squareare (1) 100,120 (2) 10, 12 (3) —120, 100 (4)12,10

Graph of alinear polynomial isa (1) Straight line (2) circle
(3) parabola (4) hyperbola

Transpose of a column matrix is

() unit matrix (2) diagonal matrix

matrix

(3) column matrix (4) row

If in triangles ABC and EDF, === == then they will be similar,
when

(1) 2B=2E (2)2A=«D (3) «B=4«D (4 24A=<F

In a AABC, AD is the bisector of £BAC. If AB=8cm, BD =6 cm
and DC = 3 cm. Thelength of theside AC is

(2) 6cm (2) 4cm (3) 3cm (4) 8cm
Inthe given figure, PR =26 cm, QR =24 cm, zZPAQ =90°, PA=6
cmand QA =8 cm. Find £PQR

o I
AP Y
‘q
Q
R @ (19

(1) 80° (2) 85° (3) 75° (4) 90°

Infigureif PR istangent tothecircleat P and O isthe centre of the
circle, then £POQ is
(1) 120° (2) 100° (3) 110° (4) 90°
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ARIYALUR DIST
+91 98431 51302
PART —1l (Marks: 20) 10x2=20
Il. Answer 10 Questions. Question No. 28 iscompulsory.
15. If BXA ={-2,3),(—2,4),(0,3),(0,4),(3,3),(3,4)} find Aand B
16. Let A ={3,4,7,8}and B = {1, 7,10}. Which of the following sets
are relations from A to B? (i) R, = {(3,7),(4,7),(7,10),(8,1)}
DR, = {38, D(4,12)}
17. findkif fo f(k) =5wheef(k) =2k —1
18. 1Is7 x 5 x 3 X 2 + 3 acomposite number? Justify your answer
19. If 13824 23 =22 x 3P thenfindaand b.
20. Findthe 19" term of an A.P. —11,-15,-19, .........
21. Determinethe nature of roots for the following quadratic equations
(i) 2x>=2x+9=0
22. Find the values of x, y and z from the following equations

12 3
oy =69 (T 5-C )

1 2 3 17 0
2B.1IfA=4 5 6|,B=(1 3 1), findA+B

7 8 9 2 40

; 2 _ _ (5 -4
24. Verify that A2 = | when A = (6 _5)

25. In AABC, if DE || BC, AD = x, DB = x—2, and AE =x+ 2,
and EC = x — 1 then find the lengths of the sides AB and AC.

26. A man goes 18 m due east and then 24 m due north. Find the distance
of his current position from the starting point?

27. An artist has created a triangular stained glass window and has one
strip of small length left before completing the window. She needs to

K.MURUGANANDHAM .MSC.Med.MPhil

SSLC

figure out the length of left out portion based on the lengths of the
other sides as shown in the figure.

B

- 4h”
WA

woe

A 3m E 4cm C
28. If « and B are the roots of x2 + 7x + 10 = 0 find the values of
(Da? + p?

PART — 11l (Marks: 50) 10x5=50
[11. Answer 10 Questions. Question No. 42 is compulsory.
29. Lt A={x eN|1<x<4},B={x ew|0<x< 2} and
C={x €N|x <3} thenverifythat AX(BNC)=(AXxB)n(AXC)
x+2 if x>1
30. If the function f isdefined by f(x) =< 2 if—1<x2>1
x—1 if —3<x<-1

findthevalueof (i) f(3) (ii) f (0) (iii) f (=1.5) (iv) f(2) +f(-2)

31. consider the functions f(x), g(x) and h(x) as given beow. Show
that (fog)oh= fo(goh)ineachcase f(x)=x—-1, gx) =
3x+1, and h(x) = x?
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32. The sum of first n, 2n and 3n terms of an A.P. are S;, S, and S;
respectively. Provethat S5 = 3(S, — S;).

33. Findthesumto nterms of theseries 7+ 77 + 777 + --- .. tonterms

34. The sum of the squares of the first n natural numbers is 285, while
the sum of their cubes is 2025. Find the value of n.

35. Find the values of m and n if the following expressions are perfect

squares

1 6+13+m+
—— —4+—+4+ —+n
x*  x3 x2  x

4 3 1 2 3 4 8 3 4
36.4A=|2 3 -8|,B={1 9 2], =1 -2 3
1 0 —4 -7 1 -1 2 4 -1

Then verifythat A+ (B+C)=(A+B)+C

37, LetA:G g),13=(‘1L g)c=(i g) show that

(A-B)T =AT — BT

38. In AABC, D and E are points on the sides AB and AC respectively
suchthat DE || BC If AD =8x —7,DB =5x — 3, AE= 4x — 3 and
EC = 3x — 1, find the value of x.

39. Angle Bisector Theorem

40. In the adjacent figure, ABC is aright angled triangle with right angle
at B and points D, E trisect BC. Provethat 8AE? = 3AC? + 5AD?

A

A
B D FE

41. Show that in atriangle, the medians are concurrent.
a%+3a-4 a%4+2a-8

42.If x = and

3a2-3 2a%2-2a-4

find the value of x?y~?2
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PART — 1V (Marks. 16)
V. Answer both questions. 2x8=16

43. Graph the following quadratic equations and state their nature of
solutions. x> —6x+9=0 (OR)

Draw the graph of y = x? 4+ 3x + 2 and useit tosolvex? + 2x+ 1 =10

44. Draw APQR such that PQ = 6.8 cm, vertical angle is 50° and the
bisector of the vertical angle meets the base at D where PD =5.2cm.
(OR ) Draw acircle of radius 4cm. At a point Lon it draw a tangent
to the circle using the alternate segment.
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